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QUESTION 1

What is the duration of SQB by default? 

A. 3 seconds 

B. 6 seconds 

C. 2 seconds 

D. 10 seconds 

Correct Answer: C 

 

QUESTION 2

What command is used to verify the release of IBM Netezza Performance Server Analytics installed? 

A. nzcm --inza 

B. nzrev --inza 

C. nzinza 

D. inzarev 

Correct Answer: A 

 

QUESTION 3

What should be the state of the IBM Netezza Performance Server system in order to run the nz_manual_vacuum
command? 

A. online 

B. running 

C. stopped 

D. paused 

Correct Answer: C 

 

QUESTION 4

Which two scenarios can be addressed using the nz_check_disk_scan_speeds command? 

A. check system status 
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B. get skew information distributed across disks 

C. see disk read and write speeds 

D. slow performing SPU or drive 

E. get disk storage utilization details 

Correct Answer: BE 

 

QUESTION 5

What is the name of the IBM Netezza Performance Server Replication node at the target nodes when using Netezza
Replication Services? 

A. SUBORDINATE NODE 

B. MASTER NODE 

C. STANDBY NODE 

D. PRIMARY NODE 

Correct Answer: B 
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